fRE Ak 2 p# Class: No: Name: Score:
! x=4 y=7 3 x=6y+2

" |2x+y=10 C|2x=3y=1 "~ |3x+4y=50

4 y=-5x-2 5 Sx+y=8

" |2x-3y =40 " x+3y=—4

6 xX=y+2 3x+2y=-12

" [2x+5y=18 -3x-5y=3

g 2x—y=24 9 3x—y=15

" |4x+3y=28 " |5x—y=23

3x+y=7
10.
Sx+2y=12

1 2x+5y =32
C|5x=2y=22




M =5P
12.
{M +P =180

+8y=-6
13, {x Y

-x-3y=21

3x+y=7 Sx+4y=87 y=8—-x
14. 15. 16.
Sx+2y=12 3x+y=41 y=4x-17
+3y=4 +2y=38 8x—3y=16
17. 1577 18, {57 Lo, [8x=3y
x—=3y=16 x+5y=11 2x—y=4
-x+3y=1 2x+y=23 8x+3y=16
20. 1T 21, 1Y 22, 17N
4x—-5y=3 4x—y=19 2x+y=4




